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®YE - ¥ / SECTION - A

a1 W / Objective Type Questions

T a1 ¥ 80 7% awjfre xyw &1 g & 6T 40 wvH a7 I A

TR 7 & wnr ww fww fe my § frd @ o w1 e o g
W ey &t OMR iz Fafdv w i 40 x 1 = 40

Questior Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four Opuons out of which only one is corvect. You have to
mark your selected option on the OMR shee!?. . 40 x 1 =40
. ofsa & s g3 2
(A)  MgCO, (Bl Na,CO,
€ caco, (D) Mg (HCO,),

The chemical focmula of Chalk is

(A} MgCO, (B) Na,CO,

{C) CaCO, (D) Mg (HCO,),
2. fm=ifea d ¥R-d vig saifis s 2 2
@ @ B) dala
(© W (D) W&
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Which of the folloawing metals is the mast ductile ?
(A Gold “B)  Copper
€ Iron (D) Zinc

ﬁhﬁ‘ﬂﬁfﬂw%ﬂ,z%.%ﬁmﬁmmdwﬁ?

(A) 2 B) 3
(C) 4 D} 5
How

many struclwural jsomers ' of pentane, having molccular

formula C¢H,, are passible 2

A 2 iRl A%

€ 4 0y 3
A W >CO M wEh

(A)  fesErs W B) W uE

{.Cl TR TR ‘ L) it wqe

The fuactional group >CO is called

(A)  aldehyde group (B} cther group
(C)] alcohot group (D) carbonyl group
24(M)-H/S-41003- 59607 ° Page 5 of 40
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ﬁé"@m%mmmﬂmﬁmm“m%‘%
ﬁﬁ'ﬁ]a.ﬁﬁﬁqalasﬁﬁqﬁaﬁﬁwﬁm1a?

(Al ﬁ?f‘?mfa (B) Fad

A metal reacts with oxygen to form a compound with high melting

point, This compound is soluble in water. Which of the following

clements can it be ?

(Al Silicon (B) Carbon
(C) Calcium (D) lron
AeTETER R Uy W e 2 2

(A) Mg B) /Cu

(C) Fe (D) Au

Malachitic is an ore of which metal ?

(A) Mg (B) Cu

(C) Fe (D) Au

#R ® fire wd afva F 6 fFn | o5 §

(a) foga am . . (B) WERW

(c) faga swme (D) Heafiwm .

The process of coating a layer of zine on iron is called

(A) clectroplating .. (B) corrosion

(C) clectrolysis P _(D]  galvanisation
—  — — — &
[24(M)-H/S-41003-(s9/80) Pagc 6 of 40
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8.l 3 iz o @eg 3w o T @ o
(A) s arg | B) Tvsna
) e e D) ERgiT 3
Which of the following acids is found in vincgar ?
(A} Acclc acid (B)  Sulphuric acid
(C)  Formic aeid (D)  Hydrochlaoric acid
9. 97 T ¥y sroadsie ane d AR
(Al 19 %y By 14 dus
©) 1% T AD) - 0
The absolute refractive index of air is actually
(A)  lcss than ] .=[B) more than |
(C}  ecqualto 1 D) O
10.  NT@-T%-7e % Fafera® T0 3w o owr I dren qfo
(A) 39w B) el dw
© = g CEEGEE ki
Mirror used by ENT ( Ear-Nose-throat ) doctor is
(A) convex mirror . [B) concave mirror
(€]  plane mirror (D) nonc of these
) 24(M)-H/S-41003-(s3/60)] Page 7 ol 40
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11, 3fesn i frm Mg &1 398m g @ ?

(A)  ueq B) TSR

(C) udA (D)

Which of the following pgascs i1s used in welding ?

(A)  Mecthanc (B) Ethync

(C)  Ethanc . (D) Ethene
12, T&RH (Alkenc) 91 Hiag ol

(A} € Hppan (BT ..,

(i C Hy, (D) -C,, Han_

The gencral formula of an alkene is

(Al C,H,,., B) C,Hy,

€ C,H,, (D) C,Ha,
13. foidgsR-srwwsaidad?

(A)  <hra (B) EHE

€) Sepfas @ (D) FHHE D

Which one of the following is a clcan energy source ?

(A) Coal (B) Wood

-~(C) Natural gas | (D)  All of thesc
24(M)-H/S-4 1.003-(59/le Page 8 of 40
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14. B Wit fRg piy wom & 9 FE w8 2
) 40%4.g ' 3) So&ss
€] 60868 D) 70878
Within which pH range docs our body work ?
{A)] 401048 (B) S0tc58
C) 60068 D) 701078
15. Wﬂmmﬁmgﬁﬁ%ﬁﬂﬁ?
(A)  C_H.OH (B) -« C,HgOg
(C©)  C.H,,0, © D) - Cg¢Hg
Which of the follawing is the chemical formulaof glucose ?
" (A)  C,H,OH (B) CgHgl
(C1  CgR,,0, (D) CeHg
16, Wfem Y, WE
(A) 17 (B) 20
© 1 D) 14

The atomic number of sodium is

(A} 17 (B) 20
@ 1 D) 14
[23(M)-H/S-41003-(s/s0) Page 9 of 40
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ﬁf"-!ﬁruq ?ﬁl Tn'qml d@l 12 a[ .se-‘g' H';fr_ﬂ’aﬁﬂ &= a ?

17.
(A) 1 A8 2
C) 3 - (o) I
The atomie number of magnesiunt is (2, What is ils valcney 2
(AL g 2
€ 3 (D) 4
18, Frmifiea 8§ P urg o Rreitas sus oo 3 e 8 ote R0 B §
(A)  dfar (B). HisAH
(C) Hfcazw (D) Rt
Which of the following metals is displaced from its sall solution by
iron ?
((AJ Copper (B) Sodium
(C) Caleium (D) Magnesium
19. e Yewreier w1 s Fer T Tty B g0 Rew w2 0
(A)  39=EA (B] WUEE
(c) Trea (D) eI
[24(M)-H/S-4 1003 59/60) Page 10 of 40
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20.

21.

22.

[112]

The commercial production of cthyl alcohal is done by which

¢hemical process ?

(A)  Oxidation (B) Rcduction
{C) Fcrmentation (D) Roasting
FA TN\ vl g o d 2

(A} Ca(OH), B) Cao

(€)  CafHco,), (D}  CaCO,

What is the chemical formtla of quicklime ?

(A)  CalOH), (B) CaO

(C) CafHCO,), _(p] ~caco,

WAEAT® 397 2

(A)  NaCi +KIO, (B) NaCl+ Kl

€) () 3K (B) A (D) ¥t

loedized .sall ts

[A)  NaCl +XIO, (B)] NaCl + Kl
{C} Both (A)and [B]' (D) Nonc of these

W 37 g raralRes Tm wn R 2

(A) Hicoam Tehe B) Fagn acke MAAIEEL

(©) Hfewun avhe %ﬂﬂ?ﬁéz (D) fcvan e

24(M)-H/S-41003-s9/60) Page 11 of 40
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Whalt is the chemical name of Plaster of Paris ?
(A} Calcium sulphate
(B)  Calcium sulphate monohydrate
~—A€)  Calcium sulphatc hemihydralc
(D) Calcium chloride
23.  Fure i § oo 0w @ 3 9
(A)  Foie i B) N4
(€ g o il s T
What is present in cathode rays ?
(A)  Electron - (8)  Proton
(C) Necutron (D) Noncof thesc
24. mﬁqﬁm@aﬁ?—mﬁﬁl%?
(A) S B) waah
(C w@ad . (D) ¥ A+ TH
Which modc of nutrition is found in fungi ?
‘ (A) Holozoic @) - Saprophytic
(9] A;Jtotrophic - (.D) None of these
[24(M)-H/S-41003-(sss50] Page T7ore0
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25.

26.

27.

j1121

ﬁmq&m@ﬁqtﬁfmﬁm%%ammmﬁ?

(A) %H?Tam (B) I

€ e (D) WHIHA

Which of thc following lcnscs is uscd Lo remove short sightedneSs ?

(A)  Cylindrical (B) Convex

(€] Concave (D) Bifocal

U RN w0 areh v Rewit o it sad @ 2
(A} IRA3 S Hqge W (B} 73 FAHE R
C) RYMFIOTER (D) Fda=wgTd

Most of the refraction of the light-rays entering thc cye occurs at

(A) Interface of eye lens  (B) Interfacc of aqueous humaur

(C)  Outer surfacc of cornea (D)  None of these

fofsfgad s dafiwm s sE=s 2 ?
(A) SRITR (B) €R
(S L)

Which of the ollowing is the unit of power of Icns ?

_(A) diopire (B) watt

{C) crg (D) joule

24(M)-H/S-41003-is9/60)
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28, mhﬁ%«mmﬁwmm%?

a3 B T
(C) w=ad (D) PR
What typc of lens is found in human €YC ?

(A} Convex - (B) Bifocal

(C) C.Oncévc (D) Cylindrical

20, oA % fore P e a1 S @ P
W s (By o
(€)= w (D) | & SR T
Which mirror is used as shaving mirror ?
/@ - Concave mirror (B) Planc mirror
(C) Convex mirror (D) Noné ol thesc

30. ﬁa@mmmmwnﬁﬁam,mma@ﬁa@m'
w1, @ 95 & el w8l @0 fgg ?

(A)  THAI F3 ® TR (B) TS GIhW aUT Thal Fg & 9
() THFa-F3 W (D) T F ya oo g Hiew F @

[24M)-H/52 1003-(ss/sa)] Page 14 of 40
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| 112
Il the image of an object formed by a concave mirror is virtual,

erect and larger than the object then where should be the location

of the object ?

(Al Beyond the centre of curvature

Between principal focus and centre of curvaturc

(C) At the centre of curvature

(D) Belween the pole and principal focus of the mirror
3L ¥ H frmn @t Aed ) s S)osd &

(A) 8 ) g (B} - &l e w1 H[hA

(C) &6 ) auaw smm (D) ¥ & HIE 7E

The capacity 10 bend rays of light is called

(Al  the power of lens

(B)  the reciprocal of the power of the lens

(C) the power of accommadation of the lens

(D) nonc of these
3. HEAS ©iW g GTW Sfafed BN @

(A) o (B) ®w

(€ A (D) T @l

24(M)-H/S-41003-s35600)  ©  Pagc 15 of 40

Previous Pathshala




i s

erect

(A diminished 1)
(C)  virtual ) altof these
33. R w= frad v fem 2
(A) A B e
© e . of
The word 'Gene' was coined by
(A)  Mendel . (B) _ Johannsen
(C) Lamarck (D) | Darwin
34. fProfufea 3 el g @ am @2
A) Pr=F @) ot
€ FAad (D) Ieherd

In which of the following binary fission does not occur ?
_~(A] Yecast ‘ (B) Paramoecium
(C) Euglena (D) Amoeba .

35. quEY o F @ feEe iU EAd § ?

(A) 3EHE (B) afdw®
() ukml | (D) WY
=24(M)-H/S—41003-(s_915_o;] Pagc 16 of 40
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36.

‘112]

Pollen grains are formed in which of the following ?

(A} Ovary (B) Stylc
(C) Leaves (D)  Aather
s =™ Frdfim o 2
Al g (B) HIgHH gl
(C) wWxER g (D) WFe g
Blood pressurc is controlled by
(A)  Testis ~[B) ~_Thymus
(C)  Thyroid (D) Adrenal
37. HA-® fard vaEs @3 | qata 2 2
(A) uYe @) waka
(€ Fuiifrn O) R
Which diseasec is rclaled o respiratory system ?
(A) Diabetes | (B) Malaria
(C) Pncumonia (D) Diarrhoea
38, T & wha & W fafa e 2
A G
() #ge (D) PR '
I'_;;:,TM,.E /5-41003-masso Pagc 17 of 40
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|1 | 112
The sugar level in blnod'is controlled by
(A) Estrogen (B) .Progesteronc
/LL’) Insulin (D) Rclaxin
39.  uwa wit § wed o ifiew @R-d 2 2
(A) gyl (13) | dfren @I
€ @ FIRrH (D)~ §¢d SR

Which is the longest cell of human boedy ?

(A)  Musclcs (B) . ‘Nervecell

(C)  Blood cell A (B)| _Heart cell

40. 97U & & BN %1 =81 UFT 51999 Al 22
(A)  weTRIgEe (B) W
(C) == D) =fFEs 3
Which part of the food is digested in buccal cavily ?
(A) Carbohydratc (B) Protein
(C) Fat (D) Nucleic acid

41. SeT™ UG AT B

() e (B) T H
(C) FWH (D] WY
[24(M)-H/5-410031s5;60) Page 18 of 40
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43.

44,

(A)  Pinyg (B)
Nerium (D)
QR W g 3
(A srzrm g (B)
(€ Tevh g (D)
Androgen is secrored by the
(A)  Ovary (8)
(C)  Duodenum “j
afdtwr sy 2
A dg ®
(C)  Je1Em o
Style is part of
Al Filament 8
(C) Ovary =
ogufl w2
A (B)
o =B (D)

Rosc

Mango

EALE-AU

HAHIEE q[

Testes

Stomach

AT &

THET &

Gynoccium

Stamen

Syt o dc~

S AT+

[112]

24(M)-H/S-41003-(s9/60)
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Duodenum is a part of

(A} Buccal cavity (13) Stomach
{C) Largeintestine (D} Small intestine
15, = e g, e, zﬁm;{%an g firerert 401 2
(A)  IwST a3 (B) 9 a3
(C) qwa o (D) @84 LES
n h‘““‘a“ beings, nasal cavity, larynx, trachca and lungs combinc
to form
(A)  excretory system (B) © reproductive system
(C) digestive system (D)’ respiratory system
46. Y H AFEW IeE B
(A) S+ e (B) wi s dagd
(C) i §agd (D) NS4 Hagd
In plants, xylem is responsiblc for
(A)  oxygcn conduction (B) amino acid conduction
] water conduction (D] food conduction
47. faatfem 2
(A)  ICY ETHT (B) TSTEH
(C) @HEiEEse (D) @
- 24(M)-H/S-4 [003-159/60)] Pagc 20 of 40
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|} 12 |
. A a Ph}'thnrmonc (3) ancnzyme
(€l carbohydraie (D) fal ‘

48, TR & e R o w % o g 2 0

4G.

LY (B) wftfds anm
©  wdenhn (D)  wifeEm
Wilting 'of leaves. is due to which phytohormonce ?
(A)  Ethylene (B) - Abscisic acid
(C) Cytokinin (D)  Auwxin

wﬁlﬂuﬁ%tﬁéﬁmﬁﬂ@mﬂwwéﬁwwmﬂuﬁmg'
T8 oo =

(A) G AFATR ¥ | Aflegd

(C) e 7l I aF (D) ¥ & *Y 7@

Oul of a combination of resistors, one resistor is removed and it is

found that thc nel rcsistance has increcascd. The resistor was

connccted in

(A} parallcl (B) serics
(C) cannot be said (D) nonc of these
24{M)-H/S-4 100319760/ Pagc 21 of 40
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S0,

o1,

S2.

| ”2.‘

& ST (60 W, 200 V) B (10W, 200V)  Q 39T 100 V I §
42 &1 F 39w afs 2
A) 25w (B) 10W
C 115w D) ™ 2 ¢
TWwo appliances rated as (60 W, 200 V) and ( 40 W, 200 V ] are’
connccled across 100 V supply in & room. The total power
consumed ig
A) 25w (B) 10W
€ 115w (D) none of thesce
wifea § SR-m v Rige-viwa 3 frga- v 1 Frefia Fwr 8 2
(A} I°R (B) V%R
€ w (D) T 4 o
Which of the [ollowing expressions rcpresent(s) clectric power in
the circuit ? https://www.bsebstudy.com
A} I°R (8] V%R
(C) wvI }D) All of these
I <40 A 3nadR %1 Hgow A9 §
P 2 B8 1
G (D) 3a

The maximum value of magnilication in a convex mirror is

(A) B) 1

2
© 3 (D) infinite

—_—— %
[24(M)-H/S-41003-ss/60] Page 22 of 40
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53, [T g, o
A Tl g (B)  dreefie gm
(€)Wl zm (D) & & mi
Potenual diflcrence is measured by
(A} ammeter {B) voltmeter
€ volameter (D) all of these
54. Pl & @ s o 2 2
(A} ?‘Rwﬁwwaaﬁu (B) . dicg =3 +
(C) v = Jr=¢ - ™ (D) et = 39+ aee
Which of the following statements is true ?
(A) volt = ampere - ohm  (B)  volt =ohm = ampcrc
(C) ampere=volt +ohm (D) ampere = ohm + volt
55. F=fofea werd @ o 2
(A) ¥ B) F4
©) Tfafnm (D) & AR
Which of thc lollowing substances is a conductor ?
(A} Mica (B) Glass
1)  Aluminium (D)  Porcelain
24(M)-H/S-41003-(s9/60) Page 23 of 40
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c6. Tk el T G 5 e Fffee 3 AW RS § 2

B ferm () LA

© e (D) I

Which of the fallowing is nccessary Lo obtain nuclear cncrgy ?
(A} Helium (B) Uranium
(C)  Aluminium (D)~ Chromium

57. TrtieRen & o qus w7 22

(A)  arzm (B) T
(C) mviwg (D)  Sefm e
Which of the following is the malc gamete ?

(A) Ovum /(,Bl Sperm

4

(C) QOvary (D) Fallopian tube

58. GEEl DU H Tk ITEW 2

(A) INETB™ (B) wraifeem

(€ ¥mad 0 ¥

An example of parasitic plant is

(A}  Mushroom (B] Bryophyllum
(C) Cuscuta (D) Pinus

Previous Pathshala
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50, @S T a3

A ES 13) #53u

€ ey i (D) T A w1 Al

Birary fission is found in

(A} Sponge (B) Hydra

(€} Bacteria (D)  Nonc of these
60. A & P-w gt ke A 2 2

(A)  RAe (B] © 2RARIA

(C) Fwftn (D) . Fgfe

Which hormonc is scereted from pancreas ?

(A)  Epinephrinc (B) Testosicrone

(C)  Norepinephrinc (D) Insulin
6l. Fafafen § 8 F3 o = um 7R & faw swEd @ 2

(A) T ey (B) R wh R

(C) <A @& wifas (D} %% A FE IS

Which among the following is responsible for clotling of blood ?

(A\) Blood .plalclcts (B) WBC

(€} RBC (D) Nonc of these

24(M)-H/S-4 1003597601 Page 25 of 40
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62.

63.

64.

‘ 1112|
gl vl g R s 1 g o N IwS g R 2

(A e () b

C) = s (D) T a el

Which typc of nitrogenous wastes is excreted by living organisms 2
(A) Urcé (B) Ammonia

(C)  Uric acid D) All of these
frmTaen § 87 o mifes aiad w1 I 2

(A) TRRTA (B) -~ arqutRea

(C) RN . (D) - (A3 (C) @At

The change in body that occurs during adolescence is duc 1o

(A)  Testosterone (8] Thyroxine

(C) Estrogen (D) Both (A) and (C)

IR 1 G T Gar -

(A) EaREE B) @fsm

(c) afidem (D) wfsh V8 .

The body is balanced by the organ
(A) Cranium (B) Cerebrum

(C) Cerebellum (D) Brain stem

~ [28(M}-H/S-41003-see0]
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[112 l
Zn+Cu804 - ZnsS0
4

+Cu

mammmﬁ“mﬁmﬁqmﬁ%?

A ERI iy o R S

iC)  Tafr sfvfey D) TR affE

The above reaction 1s an ¢xample of a
(A) Combination reaction

(B) Displacement reaction

(C)

Dsuble displacement reaction

(D)  Dccomposition reaction

66. FyFeH rad gron § gl § aRi AR AR R WHY HAHR
(A) w2 (B) T2
© omtEri T () AR
On moving from right to left across the period of the modern
periodic table, the atomic size
(A) 1ncreases _4B) decreases
(C) remains unchanged (D) none of these
_— 24(M)-H/8-4 1003-(s9/60)| Page 27 of 40
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67.

68.

69.

v Aftsfrw e 1 el @ E,
(A} en I
(C)  =wehien 3wen (D)
When magnesium ribbon is ignited, the flamc prodinccd by it is
(A)  Yellow (8) Bluc
4C) Dazzling whitc (D) Recd
T w1 W T C 3 TR
(A) o HRUASE §W (B) ~ 8 HeGAISieh a4
(C) 7 weEAISI® 9494 (D) 6 GgEASH YA
The molccular lormula of cthane is C,H,. It has
(A) 9 covalent bonds (B) ~ 8covalent bonds
4(2) 7 covalent bonds (D) 6 covalent bonds
v Fafeean & 27t afedi ) et % e g 9 aren Tt ver
(A)  ifern g (B) IRt 3F U™
(€ et g D) Frem

The chemical substance used as a cast for sctting broken bones in

surgery is
(A) Washing soda (/Bj Plaster of Paris
(C)] Quickiime (D) Gypsum

[24(M)-[—I /S-41003-(59/60|I Pagec 28 of 40
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70.

71.

72.

Faifes § W v | 1121
RRugias A 2 2
(A)  Kq
(B) Mmgcl
© cn, ’
(D) NaCl
WhiCh onc of .
of the following is a covalent compound ?
(A)  KC
(B)  MgCl,
(C) cCH 4
(D) NaCl
N "
TN 1 b e &M 2
(A)
IER B)  3ueha
C) wméy
<) (D) - ¥ & =d 7l
An aqueoys solution of ammonium chloride is
(A) ncutfa[ ; (B) acidic
(C)  basic (D) nonc of these
frifiea § 3% frge w1 gemw 2 2
(A)] <R (B) J@dh
(I (D) dwrgz
Which of the following is a good conductor of electricity ?
(A) Plastic (B) Ilodine
(C) Sulphur AD) Graphitc
24(M)-H/S-41003-ts9/60; Pagc 29 of 40
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73.

74,

75.

) (€ 40cm

[”2}

PR 20 cm & saaw gdw A @ B &l
(Al 1Sem (8) 10cm
(C}  40cm (D) 60cm
The radius of curvawire of a concave mirror of focal length 20 em
A 15cm (B) 10cm
(D) 60cm
*ﬁﬁwmmmqmmmmmalmim

@A) fgem (B), - i Juaea
(C) ﬁ-ﬁ%ﬂm D) | @ m

A white ray is jncident obliquely on a glass slab. Which of the

following will occur with the first refraction ?

(A} Deviation (B) Total reficction

(C) Dispersion | (D)" All of these
oty e whow § sgredis w) W o g 2

A) ©& B

(€} I D) wen

In domestic electric circuit the tolour of neutral wire is
(A) Red (B) Green

(C) Black | (D) Yellow

[2a(M)-H/S-41003-1e9/601] Page 30 of 40
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76. %8 3% & R aom fegs oade a0 avd & 5
(A o s (B) i
€) wafin (D) faga If=
In which device does the split ring act as a commutator ?
(A)  Elcctric motor (B} Galvanomcler
(C)  Volitmeter (D) Elcctric gcn.cmlor
77. AR e farega i weeR el afts 7 FE0 8
A)  3faw &9 (8 & W4
(C) @Raa - (D) W& A
The device which directly converts solar cnergy into electricity is
(A)  Danicl ccll (B) Drycell
{(C) Solar cell (D) Eveready ccll
78. @& faga ¥ & g ®1 YAl 1200 3 31 3@ a= 220 AR & faga G4
A Rraft Rge uw am 2
(A) 12 QT (B) 2-8umA
(C] 2= (D) 018 YRR
24(M)-H/S-41003-(s9/60) Page 31 of 40
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79.

80.

|

UL rcsistance of the filament of an clectric bulb is 1200 Ohmg‘

How much clectric current will the bulb draw from an clectrie

source of 220 volis ?
(A) 12 ampere (B) 28ampore

(€} 2am pcre (D) ©-18 ampere

@‘a’a““ﬁ@‘ﬂ-’c!rsaaa 1-5V 2l 1C 39 A T F @

The clectromotive force of a cell is 1°5 V. The work donc on passing

a charge of 1 C will be

(A) iISv tB) 3J
& 15y (D) " 0 .
TUTY TR #= w8 2

(A) ol 0 TR I4E THW & ol Ry & RO
(B) T & G AWM & FY

(C) o/ g0 ¥ad Y619 & 991 fNager & Fo

(D) 39 A #=¥ 7&

Why is a rainbow colourful ?

_AJ  Dispersion of white light by water droplets

(B) Absorption of water droplets
(C)] Dispersion of white light by air

(D) None of these
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Yvg - ¥ / BECTION - B
wWf4& s / Physics

Y 391 v / S8hort Answer Type Questions

Y T lﬁsﬁagsaﬁqf;ﬁﬁ#ﬁiﬁcwﬂimfmﬂm*

fore 2 3% FProifia &) | 4x2%"%

Question Nos. 1 to 8 are Short Answer Type. Answer ary 4 question”

Each question carries 2 marks. S ’

L 2m %8 gt ard Red) seae oF 9 awan wwa atl ?
Find the power of a concave lens of 2 m focal Iength.

2. Ut g 3 2
Defline ampere.

3. ¥aa« gdu % ¥ A9 35am fad) 2
Write any three uses of a concave mirror.

4, EIEONE Si-sa T 2 2 TE 9 REW I 2

What is non-rcnewable source of cnergy ? Give two examples ol it.

S. U & Wi gagmd) 2

Explain scattering of Llight.

24(M)-H/S-41003-1s9/60, Pagc 33 of 40
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n |112|
6 ST 8 e e 74 A 7 L

. . ‘¢ Jaw, whoen temperatur. |
AU quantity remains constant 't Ohrm's Jaw, P e

IS constan( ? Explain.

7. IR S-t@isd § e o il 1 99 2

8. hmwuﬁmmﬁmﬁﬁﬁdﬁaml%? 2
How does the eye control the amount of light entering into it ?

aé ﬁﬁq b 'S l I,Ong Answer Type Qlleltiam
R¥T HST 9 A 10 P swhe gy F1 g § FEH UF FT I T WA 0

& forg 6 3w FrafRa 4 | 1x6=6

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them.

Each question carries 6 marks. 1x6=6
9. mmﬁwtﬁqmaﬁﬁ%+ﬁ=% 6
Prove for a concave mirror 1 + 1 —1-.
v u f
f24(M)-H /S-41003-s9/60) , Pagc 34 of 4¢
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10.

(1121
$ g
q# mmmm??maﬁtl . ©

What -
's the Source of energy of the sun ? Explain,

Y€ET e ) Chemistry

Y it ¥ / Short Answer Type Questions

o e xlaxamwm%;gﬁﬁﬁ4m&miwﬁ‘*

h?Zﬁmﬁufﬁ-at, ' 4x2=8

Question Nos. 11 to 18 are Short Answer Type. Answer any 4 qué stions-

Each question carries 2 marks.

11.

1£.

4x2=8
wiRen arigiemes & faciad i e @ snfew § e T OH 3T H
Hizan fom s ot w4 & 2 2

How is thc concentration of O™ ion affected on adding a basc in

excess to sodium hydroxide solution ?

ARm TR § el Renfr w0 a0 @ w1 adem 3 T
3@ AU ' 2
Mcntion two reactions that displace chlorine from blecaching

powder by giving cquation.

?i(M]-H/SA lOOS-iqslto_r Pagc 35 of 40
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l112]

13, HEWETTE Gy § > g @ I
What is cavaleny bond ? Give LWO examples of it

14, WO q@ R | ¢
What is an gre 2

15. mﬁamﬁmmﬁim%? 2
Why is it .ncccssary to balancc a chemical equ_ation ?

16. 30 ¥F1 Sefiy e R w1 Fare #i t 8 2 2
Why does the aq;1cous solution of an acid conduct electricity ?

17 wﬁmaﬁmﬁ\ﬁiﬁﬁmfmmaﬁl 2
Namc any two industries dependent on forest resources.

18 HHRW &1 g ? WBO TAFAl 2
What is corrosion ? Explain with example,

24[M)-H/S-41003-ws/so] Page 36 of 40
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n | 1121

St
ity ¥ Long Answer Type Questions

777 FE 19V 20 B ywein #1 570 @ ot v @7 v &1 R T F

fy 5 % fraffa §, 2 pig 5
Question Nos. 19 ang 20 are Long Answer Type. Answer any one of theft
Each question carres 5 marks. | xS~ 5
19 TR B ug ¥ frpdor § g T @) R >

Write the steps involved inthe extraction of mctals [rom orcs.

20. AE-IA & GuT F o & AR A &

Briclly describe the benefits of rainwatcr harvesting.
wia faa’/ Biology
Y 3987 W / Short Answer Type Questions

WP W&GT 21 ® 28 7% sy yudiw &1 yAd ® Fel 4wyt & sav §1 AAF 0T

%ﬁ?{’;’mﬁlﬂfﬁﬁti 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions.

Each question carnies 2 marks. 4x2=8
21, WEgIMgem AsFR> 2

Whalt is sinoauricular nodc ?

24(M)-H/S-41003 39/60¢ Page 37 of 40
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23.

24,

23,

26.

271,

28.

1112]

I T4 > s e ) W) :
Whal is ozonc ? Explain its imF;O"‘ancc'

DNA 3gafirrn v amar 81 &2 2 .
DNA is the basis of heredity. How ?

LU S X | 2
What is hormone ?
-‘.I‘ﬁ CRCLEE R RS S S 2
What is the role of pelals in {lowers ?

ogiew = 2 2 ' 2
What is chivironment ?

reTgeRIToTRYE w1 R 7 2
What is glycolysis ?

Thwor &1 gftamr €| 2

Define nutrition.

[24(M)-H/S-41003-(s9/601] Page 38 of 40

Previous Pathshala




(112
Hd Iitg ¥ / Long Answer Type Questions

T T 29 30 g 1 i @ ot g o e 31 gt 77 8

ﬁ’(’ 5 3% ﬁ'gfﬁ-a 4 1 x5*= 5
Question Nos, 29 and 30 are Long Answer Type. Answer any one of them:
Each question carmes 5 marks. 1x5° .
29. v o) wd € 2 qoem o adl @ SN el >

Define pollination: Write the effect of rainfall on pollination.
30 f ' % i ot H
. U ¥ g qtq -9 garia i, 3% SuE Jg o

ford) S

Write about five important sexually transmitted diseases, their

causal pathogens and symptoms.
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